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QUESTION 1

The following SAS program is submitted: 

data numrecords; 

infile `file specification\\'; 

input@1 patient $15. 

relative$ 16-26@; 

if relative = `children\\' then 

input @54 diagnosis $15. @; 

else if relative = `parents\\' then 

input @28 doctor $15. 

clinic $ 44-53 

@54 diagnosis $15. @; 

input age; 

run; 

How many raw data records are read during each iteration of the DATA step execution? 

A. 1 

B. 2 

C. 3 

D. 4 

Correct Answer: B 

 

QUESTION 2

The following SAS program is submitted: 

data work.retail; cost = `20000\\'; total= .10* cost run; 

What is the result? 

A. The value of the variable TOTAL in the output data set is 2000. No messages are written to the SAS log. 

B. The value of the variable TOTAL in the output data set is 2000. A note that conversion has taken place is written to
the SAS log. 
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C. The value of the variable TOTAL in the output data set is missing. An error message is written to the SAS log. 

D. The variable TOTAL in the output data set has no value. The program fails to execute due to a syntax error. 

Correct Answer: B 

 

QUESTION 3

Given the SAS data set PRICES: 

PRICES 

prodid price 

K12S 5.10 producttype 

NETWORK sales 

15 returns 

B132S 2.34 HARDWARE 300 10 

R18KY21.29 SOFTWARE 25 5 

3KL8BY 6.37 HARDWARE 125 15 

DY65DW 5.60 HARDWARE 45 5 

DGTY23 4.55 HARDWARE 67 2 

The following SAS program is submitted: 

data hware inter soft; 

set prices (keep = producttype price); 

if price le 5.00; 

if producttype = `HARDWARE\\' then output HWARE; 

else if producttype = `NETWORK\\' then output INTER; 

else if producttype = `SOFTWARE\\' then output SOFT; 

run; 

How many observations does the HWARE data set contain? 

A. 0 

B. 2 

C. 3 

D. 4 
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Correct Answer: B 

 

QUESTION 4

The following SAS program is submitted: 

Which statement is true about the output data set? 

A. The label of the variable Jobcode is Job (only the first word). 

B. The label of the variable Jobcode is Job Desc (only the first 8 characters). 

C. The label of the variable Jobcode is Job Description. 

D. Labels can only be defined in PROC steps. The program fails to execute due to errors and the data set is not
created. 

Correct Answer: C 

 

QUESTION 5

A raw data file is listed below: 

RANCH,1250,2,1,Sheppard Avenue,"$64,000" SPLIT,1190,1,1,Rand Street,"$65,850" CONDO,1400,2,1.5,Market
Street,"80,050" TWOSTORY,1810,4,3,Garris Street,"$107,250" RANCH,1500,3,3,Kemble Avenue,"$86,650"
SPLIT,1615,4,3,West Drive,"94,450" SPLIT,1305,3,1.5,Graham Avenue,"$73,650" 

The following SAS program is submitted using the raw data file as input: 

data work.condo_ranch; 

infile \\'file-specification\\' dsd; 

input style $ @; 

if style = \\'CONDO\\' or style = \\'RANCH\\'; 

input sqfeet bedrooms baths street $ price : dollar10.; 

run; 

How many observations will the output data set contain? 

A. 0 

B. 3 
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C. 5 

D. 7 

Correct Answer: B 
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